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QUESTION 1

Which of the following is an example of something that CAN be done with hierarchical policing (CFHP) but CANNOT be
done with standalone policers?

A. Limiting the maximum forwarding rate of each individual policer and, at the same time, marking, packets as in-profile
or out-of-profile.

B. Putting packets in a buffer as they are received, and marking packets as in-profile or out-of-profile as they are
removed from the buffer.

C. Rate-limiting the collective output of several policers, and to reallocate bandwidth that is not utilized by some policers
to other policers that need to use it.

D. Rate-limiting the collective output of several policers towards each egress FFPC, while maintaining control of the
maximum overall forwarding rate.

Correct Answer: A

QUESTION 2
What is an SLA? (Choose two)

A. An SLA is used to provide automated, real-time testing and alarming for throughput, latency, and jitter across a
provider\\'s network.

B. An SLA is an agreement between a customer and a provider that dictates the treatment of customer traffic across the
provider\\'s network.

C. An SLA allows customers to control all traffic within the service provider\\'s network by prioritizing their traffic over
others as desired.

D. An SLA allows a customer to pre-mark traffic and ensure that traffic is treated as per the agreement within the
provider\\'s network.

E. An SLA is a standard set of network QoS policies that a provider shares to all its customers, allowing them to better
understand the treatment of traffic within the provider\\'s network.

Correct Answer: BD

QUESTION 3

Which of the following statements is a characteristic of a CFHP arbiter?

A. An arbiter can adjust the CIR of its child policers.

B. An arbiter rate-limits the collective output of several policers towards each egress FFPC.
C. An arbiter can adjust the bandwidth assigned to its child arbiters and child policers.

D. An arbiter does not need to honor the configurations of its child policers.
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Correct Answer: C

QUESTION 4

Individual application streams are considered microflows, whereas are considered macroflows.
A. SAPs

B. SDPs

C. Services

D. Queues

E. Schedulers

F. Forwarding classes

Correct Answer: F

QUESTION 5
With hierarchical scheduling, up to tiers are supported on the Nokia 7750 SR.
A.8

B.3

E.6

Correct Answer: B
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